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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Computer Science 9618, and to show how different levels of candidates’ performance (high, middle and low) relate to 
the subject’s curriculum and assessment objectives. 

In this booklet candidate responses have been chosen from the June 2021 exam series to exemplify a range of 
answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These 
files are: 

9618 June 2021 Question Paper 22
9618 June 2021 Mark Scheme 22

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

Typesetting instructions: 

1.	 Paragraph 1: update subject title and syllabus code.

http://www.cambridgeinternational.org/support
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Typesetting instructions: 

1.	 Update master pages: A-Master and C-Master to show correct 
paper number, subject and syllabus code. 

How the candidate could have improved their answer
•	 (a)(i) To be awarded marking point 4, the candidate needed to use the correct expression for generating the 

required random number. The statement INT(RAND(200)) would generate a value in the range 0 to 199 rather 
than one in the range 1 to 200 inclusive, as required. 

•	 (a)(ii) To be awarded marking point 6, the candidate needed to add more detail to their comment ‘the following 
element’, which was too vague. They could have put ‘the next empty location’ instead, which would have been 
acceptable.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 
helps your learners to refine their exam technique.

Common mistakes candidates made in this question
•	 (a)(i) Some candidates made little or no attempt to answer this question.
•	 (a)(i) Few candidates used the RAND() function. Candidates needed to refer to the index provided for a 

description of pseudocode functions and operators and these definitions needed to be followed.
•	 (a)(i) Many candidates shortened the conditional expression IF RNum >= 66 AND RNum <= 173 to the 

unacceptable form IF RNum >= 66 AND <= 173 .

Lists the common mistakes candidates made 
in answering each question. This will help your 
learners to avoid these mistakes and give them 
the best chance of achieving the available marks.

Often candidates were not awarded 
marks because they misread or 
misinterpreted the questions. 

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the Examiner comments. 

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine 
their exam technique.

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in 
the classroom to improve their skills.
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Question 1

Example Candidate Response – high Examiner comments

1  All rows are correct.

Mark for (a)(i) = 4 out of 4

2  All rows are correct.

Mark for (a)(ii) = 4 out of 4

3  All rows are correct.

Mark for (b) = 3 out of 3

Total mark awarded = 
 11 out of 11

1

2

3
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Example Candidate Response – middle Examiner comments

1  The candidate completes the 
first 3 rows correctly, but the last row 
should be type DATE.

Mark for (a)(i) = 3 out of 4

2  The candidate completes rows 
2 and 3 correctly. In row 1, zero is 
not acceptable as a logical value. 
The answer in row 4 is of type 
STRING so it should be enclosed in 
quotation marks.

Mark for (a)(ii) = 2 out of 4

3  The candidate completes rows 
2 and 3 correctly. Row 1 is an 
Assignment statement.

Mark for (b) = 2 out of 3

Total mark awarded = 
 7 out of 11

2

3

1
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Example Candidate Response – low Examiner comments

1  The candidate completes rows 
3 and 4 correctly. Row 1 should be 
of type STRING and row 2 of type 
INTEGER.

Mark for (a)(i) = 2 out of 4

2  The candidate completes all 
rows incorrectly. They give a data 
type rather than an evaluated result.

Mark for (a)(ii) = 0 out of 4

3  The candidate only completes 
row 3 correctly. Row 1 is an 
assignment statement and row 2 a 
selection statement.

Mark for (b) = 1 out of 3

Total mark awarded = 
 3 out of 11

Common mistakes candidates made in this question
•	 Some candidates did not use TRUE or FALSE to denote logical values.
•	 Some candidates did not use quotation marks to denote values of data types CHAR or STRING.

1

2

3
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Example Candidate Response – high Examiner comments

1  Rows 1, 2 and 4 are correct. 
Row 3 is not the correct term.

Mark for (a)(i) = 3 out of 4

2  Both of the candidate’s answers 
are incorrect.

Mark for (a)(ii) = 0 out of 2

Question 2

1

2
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Example Candidate Response – high, continued Examiner comments

3  All parts of the candidate’s 
answer are correct.

Mark for (b)(i) = 2 out of 2

4  The candidate gives a correct 
answer.

Mark for (b)(ii) = 1 out of 1

5  Both of the candidate’s answers 
are correct.

Mark for (b)(iii) = 2 out of 2

Total mark awarded = 
 8 out of 11

How the candidate could have improved their answer
(a)(i) The candidate needed to use the correct term for the label, which was ‘Start’. The term ‘pointer’ had a special 
meaning and in this case the mark scheme was strictly applied.

3

4

5
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Example Candidate Response – middle Examiner comments

1  The candidate completes rows 
2 and 4 correctly.

Mark for (a)(i) = 2 out of 4

2  Both of the candidate’s answers 
are incorrect.

Mark for (a)(ii) = 0 out of 2

1

2
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Example Candidate Response – middle, continued Examiner comments

3  The candidate’s answer ‘Start 
date’ is correct.

4  The ‘name of the user’ may 
not be unique and so should not be 
used.

Mark for (b)(i) = 1 out of 2

5  These items could reasonably 
be calculated when needed. The 
values would not need to be stored.

Mark for (b)(ii) = 0 out of 1

6  The candidate is awarded both 
marks for these answers.

Mark for (b)(iii) = 2 out of 2

Total mark awarded = 
 5 out of 11

How the candidate could have improved their answer
•	 (b)(i) The candidate needed to use a unique data item such as User ID (or similar) to identify a loan as many users 

may have shared the same name.
•	 (b)(iii) Best practice requires an item that could not be calculated from already stored data, such as is the case for 

the two answers given.

3

4

5

6
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Example Candidate Response – low Examiner comments

1  Only row 4 is correct.

Mark for (a)(i) = 1 out of 4

2  The candidate’s answer for 
‘Current state’ is correct.

Mark for (a)(ii) = 1 out of 2

1

2



Example Candidate Responses – Paper 2

14

Example Candidate Response – low, continued Examiner comments

3  The candidate is awarded a 
mark for the first item. The second 
item would not need to be stored for 
each loan.

Mark for (b)(i) = 1 out of 2

4  The candidate gives an 
incorrect answer. Data is required 
for a loan.

Mark for (b)(ii) = 0 out of 1

5  The first two items the 
candidate gives do not relate to the 
library loan process.

6  The alternative answer the 
candidate gives could be awarded 
a mark, but the first two answers 
given are the only ones that can be 
considered when awarding marks in 
this style of question.

Mark for (b)(iii) = 0 out of 2

Total mark awarded = 
 3 out of 11

How the candidate could have improved their answer
•	 (b)(i) The mark scheme did not consider the period of the loan (the second item given) as something that would 

need to be recorded for each loan. The candidate could have improved their answer for the third item if they had 
given ‘date the book was returned’. If they had done this, then the candidate could have given ‘Book ID’ as the 
second item and been awarded the second mark.

•	 (b)(ii) The ID number of the book was something that would need to be stored so that the actual copy could be 
identified. The mark scheme gives examples of items which could be required, but which are not required to be 
stored for each loan.

Common mistakes candidates made in this question
•	 (b)(i) Some candidates used ‘Name of the user’, which was too vague as it was possible for more than one user to 

have the same name. Candidates needed to use a unique item such as ‘User ID’ to identify the borrower.
•	 (b)(ii) Some candidates incorrectly stated that the library system would store items of data whose values could 

reasonably be calculated from already-stored data.

3

4

5

6
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Example Candidate Response – high Examiner comments

1  The candidate gives a correct 
answer.

Mark for (a) = 1 out of 1

2  The candidate gives a correct 
answer.

Mark for (b) = 1 out of 1

3  Both answers are correct.

Mark for (c) = 2 out of 2

4  The candidate completes the 
diagram correctly with arrows from 
each ‘pointer’ to the next node.

Mark for (d) = 2 out of 2

Total mark awarded = 
 6 out of 6

Question 3

1

2

3

4
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Example Candidate Response – middle Examiner comments

1  The candidate gives the correct 
answer.

Mark for (a) = 1 out of 1

2  The candidate gives the correct 
answer.

Mark for (b) = 1 out of 1

3  The candidate gives two 
incorrect answers.

Mark for (c) = 0 out of 2

4  The candidate completes the 
diagram correctly with arrows from 
each ‘pointer’ to the next node.

Mark for (d) = 2 out of 2

Total mark awarded = 
 4 out of 6

How the candidate could have improved their answer
(c) The candidate needed to use the term ‘Null Pointer’. The answer the candidate gave for ‘Meaning’ suggested that 
they had an understanding of the use of pointers, but the particular meaning in the case of the Null Pointer would be 
that there were no more nodes in the list.

1

2

3

4
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Example Candidate Response – low Examiner comments

1  The candidate gives an 
incorrect answer.

Mark for (a) = 0 out of 1

2  The candidate gives another 
incorrect answer.

Mark for (b) = 0 out of 1

3  The candidate uses an incorrect 
term and the phrase ‘where the data 
ends’ is too imprecise.

Mark for (c) = 0 out of 2

4  The candidate is awarded the 
first mark for the arrow linking the 
Start Pointer to the node with ‘Cat’. 
The remaining annotations are 
incorrect.

Mark for (d) = 1 out of 2

Total mark awarded = 
 1 out of 6

How the candidate could have improved their answer
(c) The candidate needed to use the term ‘Null Pointer’. The answer the candidate gave for ‘Meaning’ suggested an 
understanding of the linked list operation, but the expression ‘where the data ends’ was not sufficiently succinct.

Common mistakes candidates made in this question
Many candidates did not attempt parts of this question.

1

2

3

4
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Example Candidate Response – high Examiner comments

1  The candidate is awarded 
marking point 3 for inputting a 
student mark within a loop (which 
the candidate describes in step 5).

2  The candidate is awarded 
marking point 6 because they add 
the mark to the total.

3  The candidate is awarded 
marking point 4 for their description 
of how each mark compares with 
grade thresholds.

4  The candidate refers to a loop 
so is awarded marking point 2.

5  The candidate is not awarded 
marking point 5 because the 
description outputs the mark, but not 
the grade.

6  The candidate is awarded 
marking point 7 for the output of the 
average, as they previously describe 
the calculation.

7  The candidate makes no 
reference to a variable used to store 
the count of students in the class so
they are not awarded marking point 1.

Total mark awarded = 
5 out of 6

How the candidate could have improved their answer
•	 To be awarded marking point 1, the candidate could have made a specific reference to the use of variables to store 

the number of students and the total of all the marks.
•	 To be awarded marking point 2, the candidate could have given a description of a loop used to input all of the 

marks.
•	 To be awarded marking point 5, the candidate needed to output each student grade.

Question 4

1

2

3

4

5
6

7
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Example Candidate Response – middle Examiner comments

1  The candidate is not awarded 
marking point 1. Their reference to 
a variable to store the number of 
students (‘a count’) is vague and 
they do not mention a variable used 
to store the total.

2  The candidate mentions a loop 
so is awarded marking point 2.

3  The candidate is awarded 
marking point 3 awarded for the 
input of marks within a loop.

4  The candidate is awarded 
marking point 6 for adding the input 
value to a total.

5  The candidate’s solution needs 
to output the grade, but here it is the 
mark that is output, so they are not 
awarded marking point 5.

6  The candidate is awarded 
marking point 7 for the output of the 
average mark (they already describe 
the calculation of the average).

Total mark awarded = 
4 out of 6

How the candidate could have improved their answer
•	 To be awarded marking point 1, the candidate could have made a specific reference to the use of variables to store 

the number of students and the total of all the marks.
•	 To be awarded marking point 4, the candidate could have given a description of how each mark was compared 

with threshold values to obtain the corresponding grade.
•	 To be awarded marking point 5, the candidate needed to output each student grade.

1

2

3

4

5

6
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Example Candidate Response – low Examiner comments

1  The candidate is not awarded 
marking point 3 despite this 
reference to marks being input 
because their description of the 
algorithm does not refer to a loop to 
input each mark in turn.

2  The candidate is not awarded 
marking point 6. The phrase ‘adding 
the marks’ is too vague and they 
make no specific reference to the 
required variables.

3  The candidate is awarded 
marking point 4 for their description 
of the mark being compared with 
threshold values.

4  The candidate is awarded 
marking point 7 because they refer 
to the output of the average mark.

Total mark awarded = 
2 out of 6

How the candidate could have improved their answer
•	 	To be awarded marking point 1, the candidate could have made a specific reference to the use of variables to store 

the number of students and the total of all the marks.
•	 	To be awarded marking point 2, the candidate could have referred to a loop containing the steps required for each 

student mark.
•	 	To be awarded marking point 3, the candidate needed to refer to inputting the marks if there had also been a 

reference to a loop in the algorithm.
•	 	The candidate could have been awarded marking point 5 if they had output each student grade.
•	 	To be awarded marking point 6, the candidate could have made a specific reference to maintaining the total mark 

and the count of the number of students.

Common mistakes candidates made in this question
•	 	Many candidates struggled with questions which asked for a description of an algorithm. Their descriptions tended 

to lack detail and in many cases just repeated phrases from the question.
•	 	It might be helpful for candidates to imagine they were describing the algorithm to a fellow student, who would then 

use the description to produce a solution in pseudocode.
•	 Many candidates referred to features that were not required by the question, such as storing all names and test 

results in an array, converting each test mark into a percentage or sorting the marks into ascending order.

1

2

3

4
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Question 5

Example Candidate Response – high Examiner comments

1  The candidate is awarded 
marking point 1 for the array 
declaration.

2  The candidate is awarded 
marking point 3 for the correct array 
‘syntax’.

3  The candidate is not awarded 
marking point 4.

4  The candidate is awarded 
marking point 2 for the loop.

5  The candidate is awarded 
marking point 5 for the range check 
and subsequent increment of count 
variable.

6  The candidate is awarded 
marking point 6 for the output 
statement.

Mark for (a)(i) = 5 out of 6

7  The candidate is awarded 
marking point 2 because they refer 
to a conditional loop.

8  The candidate is awarded 
marking point 4 for their comparison 
of the new random number with an 
element from the array.

9  The candidate’s reference to 
‘the following element’ is vague so 
they are not awarded marking point 
6.

Mark for (a)(ii) = 2 out of 3

3

4

5

6

2

1

7

8

9
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Example Candidate Response – high, continued Examiner comments

10  The candidate completed all 
rows correctly.

Mark for (b)(i) = 4 out of 4

11  Both of the candidate's 
comparisons are correct, but the 
logical operator is incorrect.

Mark for (b)(ii) = 1 out of 2

Total mark awarded = 
12 out of 15

How the candidate could have improved their answer
•	 (a)(i) To be awarded marking point 4, the candidate needed to use the correct expression for generating the 

required random number. The statement INT(RAND(200)) would generate a value in the range 0 to 199 rather 
than one in the range 1 to 200 inclusive, as required. 

•	 (a)(ii) To be awarded marking point 6, the candidate needed to add more detail to their comment ‘the following 
element’, which was too vague. They could have put ‘the next empty location’ instead, which would have been 
acceptable.

•	 (a)(ii) The candidate needed to address marking point 1 and marking point 5.
•	 (b)(ii) The candidate needed to use the logical operator AND rather than OR.

11

10
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Example Candidate Response – middle Examiner comments

1  The candidate is not awarded 
marking point 1 as this is not an 
acceptable array declaration. 

2  The candidate is awarded 
marking point 3 for the correct array 
‘syntax’.

3  The candidate is not awarded 
marking point 4 as the statement 
using the RAND() function would 
not give the range of values 
required.

4  The candidate is awarded 
marking point 5 for the correct range 
check and subsequent increment of 
variable ‘Count’.

5  The candidate is awarded 
marking point 2 for the loop 
structure.

6  The candidate is awarded 
marking point 6 for the final output 
statement.

Mark for (a)(i) = 4 out of 6

7  The candidate does not address 
the question.

Mark for (a)(ii) = 0 out of 3

1

2
3

4

5
6

7
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Example Candidate Response – middle, continued Examiner comments

8  The candidate completes the 
first 3 rows correctly, but the last row 
is incorrect.

Mark for (b)(i) = 3 out of 4

9  The candidate’s use of the 
logical AND operator is correct, but 
their comparisons are incorrect.

Mark for (b)(ii) = 1 out of 2

Total mark awarded = 
8 out of 15

How the candidate could have improved their answer
•	 (a)(i) To be awarded marking point 1, the candidate needed to specify that the array contained 100 elements in 

their declaration statement. They gave the name of the array and the data type correctly but the asterisk ‘(*)’ was 
not acceptable as a boundary description. 

•	 	(a)(i) To be awarded marking point 4, the candidate needed to use the correct expression for generating the 
required random number. The statement RAND(201) would generate a real value in the range 0 to 200.999 
(recurring) rather than an integer value in the range 1 to 200 inclusive, as required. 

•	 	The statement IF RAND(201) = INTEGER was not a valid way of testing whether a number was an integer. The 
candidate needed to use the INT() function to convert from a REAL to an INTEGER. 

•	 (a)(ii) The candidate’s description needed to explain how the algorithm would ensure that each array element was 
unique. This would involve the use of a loop containing a test to compare each new random number with all those 
values already stored in the array.

•	 (b)(ii) The candidate needed to use the comparison operators >= and <= respectively to be awarded the second 
mark.

8

9
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Example Candidate Response – low Examiner comments

1  The candidate is awarded 
marking point 1 for the array 
declaration.

2  The candidate is not awarded 
marking points 3 or 4 because they 
do not attempt to generate a random 
number, or to assign a value to the 
RNum array.

3  The candidate’s range check is 
incorrect so they are not awarded 
marking point 5.

4  The candidate’s loop 
termination condition is incorrect so 
they are not awarded marking point 
2.

5  The candidate is not awarded 
marking point 6. Although the 
variable ‘Count’ is incremented in 
the loop, the candidate also uses it 
as the loop counter in the statement: 
NEXT Count.

Mark for (a)(i) = 1 out of 6

6  The candidate’s description is 
too vague and repeats the question. 
The phrase ‘a repeated value 
changed’ is not sufficient to imply 
the generation of a new random 
number. 

Mark for (a)(ii) = 0 out of 3

1

2

3

4

5

6
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Example Candidate Response – low, continued Examiner comments

7  The candidate completes rows 
2 and 4 correctly, but rows 1 and 3 
are incorrect.

Mark for (b)(i) = 2 out of 4

8  The candidate is awarded one 
mark for using NOT, recognising the 
attempt at simplification.

Mark for (b)(ii) = 1 out of 2

Total mark awarded = 
4 out of 15

How the candidate could have improved their answer
•	 (a)(i) To be awarded marking point 2, the candidate’s solution needed to contain a loop that repeated 100 times. 

The statement UNTIL RNum ← 100 contained two errors: RNum was an array and not an integer and the 
assignment arrow needed to be an equals sign.

•	 (a)(i) To be awarded marking point 3, the candidate needed to attempt to store a value in the array.
•	 (a)(i) To be awarded marking point 4, the candidate needed to use the correct expression to generate the required 

random number.
•	 (a)(i) To be awarded marking point 5, the candidate needed to make sure the range comparison had been correct. 

The comparison statement used contained Num < 173 which should have been Num <= 173.
•	 (a)(i) To be awarded marking point 6, the candidate needed to make sure that the variable Count had not also 

been referenced in the loop statement NEXT Count.
•	 (a)(ii) The candidate’s description needed to explain how the algorithm would ensure that each array element was 

unique. They needed to use a loop containing a test to compare each new random number with all those values 
already stored in the array.

•	 (b)(ii) The candidate needed to make sure that the conditional expression was correct. In this case, the required 
expression would have been NextChar < ‘a’ OR NextChar > ‘z’.

7

8
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Common mistakes candidates made in this question
•	 (a)(i) Some candidates made little or no attempt to answer this question.
•	 (a)(i) Few candidates used the RAND() function. Candidates needed to refer to the index provided for a 

description of pseudocode functions and operators and these definitions needed to be followed.
•	 (a)(i) Many candidates shortened the conditional expression IF RNum >= 66 AND RNum <= 173 to the 

unacceptable form IF RNum >= 66 AND <= 173 .
•	 (a)(ii) Many candidates struggled with questions which asked for a description of an algorithm. Their descriptions 

tended to lack detail and in many cases just repeated phrases from the question.
•	 (a)(ii) It might be helpful for candidates to imagine they were describing the algorithm to a fellow student, who 

would then use the description to produce a solution in pseudocode.
•	 (a)(ii) Many candidates referred to features that were not required by the question.
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Example Candidate Response – high Examiner comments

1  The candidate is awarded 
marking point 2 for their declaration 
of the variable used as a loop 
counter.

2  The candidate is not awarded 
marking point 3.

3  The candidate is awarded 
marking point 5 for the extraction of 
a character.

4  The candidate is awarded 
marking point 6 for the vowel test 
and increment operations.

5  The candidate is not awarded 
marking point 7. Their solution 
should count all non-vowel 
characters, not just alphabetic.

6  The candidate is awarded 
marking point 4 for the loop.

Question 6

1

3

2

4

5

6
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Example Candidate Response – high, continued Examiner comments

7  The candidate is awarded 
marking point 8 for the output of the 
results.

8  The candidate is awarded 
marking point 1 for the procedure 
declaration.

Total mark awarded = 
6 out of 8

How the candidate could have improved their answer
•	 To be awarded marking point 3, the candidate needed to initialise the array elements to zero.
•	 To be awarded marking point 7, the candidate could have included a conditional statement to ignore non-alphabetic 

characters in the OTHERWISE clause in their solution.

7

8
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Example Candidate Response – middle Examiner comments

1  The candidate is awarded 
marking point 1 for the procedure 
declaration.

2  The candidate is not awarded 
marking point 2. They declare the 
identifier as Count but later use 
Counter

3  The candidate is not awarded 
marking point 3.

4  The candidate is not awarded 
marking point 5. They use the 
MID() function correctly, but the 
identifier Counter starts from zero, 
which would be an invalid value.

5  The candidate is awarded 
marking point 6 for the vowel test 
and increment operations.

6  The candidate is not awarded 
marking point 7 not awarded. The 
solution would count all non-vowel 
characters, not just alphabetic.

7  The candidate is awarded 
marking point 4 for the loop 
structure.

8  The candidate is awarded 
marking point 8 for the output 
statements.

Total mark awarded = 
4 out of 8

How the candidate could have improved their answer
•	 To be awarded marking point 2, the candidate needed to ensure that their use of the variable used as the loop 

counter was consistent. The variable they used was declared as Count but they later referred to it as Counter.
•	 To be awarded marking point 3, the candidate needed to initialise the array elements to zero.
•	 To be awarded marking point 5, the candidate needed to make sure the range of values of the parameter Count to 

the MID()function were correct.
•	 To improve their answer and be awarded marking point 7, the candidate needed to make sure the solution had 

included a conditional statement to ignore non-alphabetic characters in the OTHERWISE clause.
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Example Candidate Response – low Examiner comments

1  The candidate is awarded 
marking point 3 for initialising the 
array.

2  The candidate is not awarded 
marking point 1 here. Their 
procedure heading is correct but the 
end statement is missing.

3  The candidate does not declare 
the local variables so they are not 
awarded marking point 2.

4  The candidate is not awarded 
marking point 4 because the start of 
the range is unspecified.

5  The candidate is awarded 
marking point 5 for extracting a 
character.

6  The candidate’s comparison is 
incorrect so they are not awarded 
marking point 6.
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Example Candidate Response – low, continued Examiner comments

7  The candidate is not awarded 
marking point 7. The solution would 
count all non-vowel characters, not 
just alphabetic.

8  The candidate does not give an 
output of the results so they are not 
awarded marking point 8.

Total mark awarded = 
2 out of 8

How the candidate could have improved their answer
•	 To be awarded marking point 1, the candidate needed to include the ENDPROCEDURE statement in their solution.
•	 To be awarded marking point 2, the candidate needed to declare the variable used as the loop counter.
•	 To be awarded marking point 4, the candidate could have included the initial value in their loop statement.
•	 To be awarded marking point 6, the candidate needed to make sure that their comparisons for each of the vowel 

characteristics were correct.
•	 To be awarded marking point 7, the candidate needed to include a conditional statement to ignore non-alphabetic 

characters within the final ELSE clause in their solution. 
•	 To be awarded marking point 8, the candidate needed to output their results.

Common mistakes candidates made in this question
•	 Many candidates did not initialise the CharCount array elements. They needed to initialise the variables before 

they were used.
•	 The question stated that the string contained alphanumeric characters. Many candidates correctly included a CASE 

statement to match each of the vowel characters and to increment the corresponding element in the CharCount 
array. Some candidates used OTHERWISE, which would count the number of occurrences of all non-vowel 
characters, and not just the alphabetic ones. They could have included a conditional test within the OTHERWISE 
clause to fix this.
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Example Candidate Response – high Examiner comments

1  The string the candidate 
gives correctly addresses all the 
requirements.

Mark for (a) = 3 out of 3

2  The candidate is awarded one 
mark for referring to the use of a 
trace table.

3  The candidate needs to give 
a more detailed explanation about 
how this would be used to expose 
the fault.

Mark for (b) = 1 out of 2

Total mark awarded = 
4 out of 5

How the candidate could have improved their answer
(b) The candidate’s second explanation needed to address the question and explain how the fault may be exposed. 
Their reference to the term ‘white box testing’ was not sufficient and the phrase ‘with values a normal person would 
use’ did not suggest the investigative use of test data as suggested by the phrase ‘try different test values to see 
which ones fail’. 

Question 7
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Example Candidate Response – middle Examiner comments

1  The candidate’s string 
addresses requirements 1, 2 and 3, 
but not requirement 4.

Mark for (a) = 2 out of 3

2  The candidate’s answer is not 
detailed enough to be awarded the 
marks.

Mark for (b) = 0 out of 2

Total mark awarded = 
2 out of 5

How the candidate could have improved their answer
•	 (a) The candidate needed to make sure their string contained at least one upper case character to address 

requirement 4.
•	 (b) The candidate needed to give a more detailed explanation. The number of answer lines, the marks available 

and the command word ‘explain’ indicated the level of detail required.
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Example Candidate Response – low Examiner comments

1  The candidate’s answer does 
not address the question.

Mark for (a) = 0 out of 3

2  The candidate is awarded a 
mark for their reference to white box 
testing and testing every statement.

3  The candidate’s answer is not 
meaningful.

Mark for (b) = 1 out of 2

Total mark awarded = 
1 out of 5

How the candidate could have improved their answer
•	 (a) The candidate’s answer did not address the question, it appeared to be a pseudocode statement. The question 

asked for a test string with characteristics that addressed the four requirements.
•	 (b) It was not clear what the candidate meant by ‘Dummies’. The candidate needed to give a more detailed answer.

Common mistakes candidates made in this question
Many candidates gave answers which consisted of lines of pseudocode rather than a test data string.
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Example Candidate Response – high Examiner comments

Question 8
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Example Candidate Response – high, continued Examiner comments

1  The candidate is awarded 
marking point 3 for their comparison 
statement.

2  The candidate is awarded 
marking point 4 for setting a flag 
when a match is detected.

3  The candidate is awarded 
marking point 1 for the loop.

4  The candidate is awarded 
marking point 5 for the return of a 
Boolean value.

Mark for (a) = 4 out of 5
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Example Candidate Response – high, continued Examiner comments

5  The candidate uses 
GetStart() so is awarded 
marking point 3.

6  The candidate is awarded 
marking point 4 for testing the return 
value.

7  The candidate uses 
GetWord() so is awarded marking 
point 5.

8  The candidate is awarded 
marking point 6 for testing the return 
value from IgnoreWord().

9  The candidate is awarded 
marking point 7 for building the new 
string.

10  The candidate is awarded 
marking point 2 for the loop.

11  The candidate is awarded 
marking point 9 for the output of the 
new string.

12  The candidate is awarded 
marking point 1 for the declaration 
and initialisation of the new string.

Mark for (b) = 8 out of 8

Total mark awarded = 
12 out of 13

How the candidate could have improved their answer
•	 (a) To be awarded marking point 2, the candidate needed to convert both strings (the parameter value and the 

value read from the array) to the same case prior to the comparison.
•	 (b) the candidate’s solution also addressed marking point 8, but their answer had already been awarded full marks. 

(The mark scheme allowed for 9 possible mark points but the question was for 8 marks in total)
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Example Candidate Response – middle Examiner comments
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Example Candidate Response – middle, continued Examiner comments

1  The candidate is not awarded 
marking point 2 because they only 
convert one of the two strings to a 
known case.

2  The candidate is awarded 
marking point 3 for the comparison.

3  The candidate sets a flag value 
when a match has been detected so 
is awarded marking point 4.

4  The candidate is awarded 
marking point 1 for the loop 
structure.

5  The candidate is awarded 
marking point 5 for the return of a 
Boolean value.

Mark for (a) = 4 out of 5
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Example Candidate Response – middle, continued Examiner comments

6  The candidate is not awarded 
marking point 1. Although they 
declare the variable Initials, 
they do not initialise it.

7  The candidate uses 
GetWord() so is awarded marking 
point 5.

8  The candidate is awarded 
marking point 4 for testing the return 
value.

9  The candidate uses 
GetWord()so is awarded marking 
point 5.

10  The candidate is awarded 
marking point 6 for testing the return 
value.

11  The candidate is awarded 
marking point 7 for building the new 
string.

12  The candidate does not attempt 
marking point 8.

13  The candidate is not awarded 
marking point 2 because their loop 
termination condition is invalid.

14  The candidate is awarded 
marking point 9 for the output of the 
new string.

Mark for (b) = 5 out of 8

Total mark awarded = 
9 out of 13

How the candidate could have improved their answer
•	 (a) To be awarded marking point 2, the candidate needed to convert the parameter value to lower case prior to the 

comparison.
•	 (b) To be awarded marking point 1, the candidate needed to initialise the variable Initials to an empty string, 

following the declaration.
•	 	(b) To be awarded marking point 2, the candidate needed to repeat the loop until all of the words had been 

extracted from FNString. This would have been indicated by function GetStart() returning the value -1.
•	 	(b) To be awarded marking point 3, the candidate needed to set the parameter value of function GetStart()to 

the initial value of 1 and then subsequently increment this each time around the loop.
•	 (b) To be awarded marking point 8, the candidate needed to increment the variable ‘Counter’ within the loop.
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Example Candidate Response – low Examiner comments
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Example Candidate Response – low, continued Examiner comments

1  The candidate incorrectly uses 
the keyword STRING as an identifier 
name. In this case it is not relevant 
to any of the available mark points.

2  The condition is incorrect so the 
candidate is not awarded marking 
point 1.

3  The candidate is not awarded 
marking point 2.

4  The candidate is not awarded 
marking point 3 for their comparison.

5  The candidate sets a glad when 
a match is detected so is awarded 
marking point 4.

6  The candidate is awarded 
marking point 5 for the return of a 
Boolean value.

Mark for (a) = 3 out of 5
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Example Candidate Response – low, continued Examiner comments

7  The candidate is awarded 
marking point 1 for their declaration 
and initialisation of the variable 
Initials.

8  The candidate uses of 
GetStart() so is awarded 
marking point 3.

9  The candidate is not awarded 
marking point 4 because they make 
no attempt to test the return value 
from GetStart().

10  The candidate is awarded 
marking point 5 for their assignment 
of the value returned from 
GetWord().

11  The candidate uses the 
backarrow assignment symbol 
incorrectly in the comparison 
statement so they are not awarded 
marking point 6.

12  The candidate’s preceding logic 
(and hence the context) is incorrect, 
so they are not awarded marking 
point 8.

13  The candidate is not awarded 
marking point 7 because 
String[1] is not a valid sub-string 
operation.

14  The candidate is not awarded 
marking point 2 because the loop 
statements would be executed even 
after GetStart() returned -1.

15  The candidate does not 
convert the characters in variable 
Initials to upper case so they 
are not awarded marking point 9.

Mark for (b) = 3 out of 8

Total mark awarded = 
6 out of 13

How the candidate could have improved their answer
•	 The candidate used the identifier String to indicate a variable. STRING is a keyword and as such should not have 

been used as an identifier name. In this case of this question, no mark points were directly affected.
•	 (a) To be awarded marking point 1, the candidate needed to use correct the loop termination condition AND rather 

than OR.
•	 (a) To be awarded marking point 2, the candidate needed to convert the value read from the array to lower case 

prior to the comparison.
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•	 (b) To be awarded marking point 2, the candidate needed to terminate the loop as soon as the function 
GetStart() had returned the value -1, to indicate that there were no more words in FNString.

•	 (b) To be awarded marking point 4, the candidate needed to test the value returned by function GetStart().
•	 (b) To be awarded marking point 6, the candidate needed to use the correct syntax for the comparison statement. It 

should have been: IF IgnoreWord(String) = TRUE.
•	 (b) To be awarded marking point 7, the candidate needed to use the correct sub-string function to extract the first 

character from the identifier String.
•	 (b) To be awarded marking point 8, the candidate needed to make sure the logic preceding the increment was 

correct. The variable was incremented under the wrong circumstances.
•	 (b) To be awarded marking point 9, the candidate needed to convert the characters used to construct the output 

string to upper case.

Common mistakes candidates made in this question
•	 (a) Many candidates did not attempt to convert the strings being compared to a known case (upper or lower).
•	 (b) Many candidates struggled with user-defined functions. For example, the function GetStart() is described 

as taking an integer as a parameter and returning an integer value. An example of a valid pseudocode statement 
which uses this function is:
Index ← GetStart(ThisWordNum)
Many candidates treated the function as a procedure and the return value was ignored, for example:
CALL GetStart(ThisWordNum)

This immediately introduced a new problem as there was no return value to test.

•	 	(b) Many candidates used the arithmetic operator ‘+’ to concatenate strings rather than the correct string operator ‘&’.
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